> A
N & 0l & Av S Z M A
20188 = =3 2 3 LESIH SHI L
AN S THSAE
HH: dHFMANS(BL2Z/Es0s)

CHSl MBI S (crel@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
AHIQITH & 1t 7,702,271 7,270,942 431,329

= 10,000 0 10,000
< 286,160 286,160 0
Al 7,406,111 6,984,782 421,329
SHEMA S (2L 2 /250 =) 5,520 0 5,520
SHIEAAS 5,520 0 5,520
HHIESAZH 3,220 0 3,220
201 fEt2E | 3,220 0 3,220
01 At 2t2l ] 3,220 0 3,220
OHHIEAl NH2Resl &4 +4
0,000& = 149¥ « 23] 1,960 0 1,960
OdHIZAl HEf3d FAX 64l
90,000 = 78 * 23] 1,260 0 1,260
U2 2,300 0 2,300
201 Let24E] 2,300 0 2,300
01 AFR2teltl 2,300 0 2,300
Ottty 2EAAs 4 =&
70,000& = 10Y = 23] 1,400 0 1,400
Oddlthe 2R FAX Ol
90,000& = 5% « 23] 900 0 900
S2EAMLEEIFI(UE/FULESTSLR) 5,315,133 5,176,851 138,282
=) 68,110 68,110 0
Al 5,247,023 5,108,741 138,282
WEEZMNE AN 3,894,516 3,756,234 138,282
sXNS =580 S43d X3 1,680,506 1,542,224 138,282
308 XM SOIH 1,679,106 1,540,824 138,282
08 WSII20HetE = 1,679,106 1,540,824 138,282
OsXY =&t SA434 XA
2 & 1,679,106,000& 1,679,106 1,540,824 138,282
TMSES SATH(US/EY - JAWR) 1,484,898 1,464,898 20,000
= 10,000 0 10,000
< 211,000 211,000 0
Al 1,263,898 1,253,898 10,000
Bdsissd 1,003,180 983, 180 20,000
= 10,000 0 10,000
< 211,000 211,000 0
Al 782,180 772,180 10,000
(2)EAZHD XA 20,000 0 20,000
= 10,000 0 10,000
Al 10,000 0 10,000
307 glztol & 20,000 0 20,000
= 10,000 0 10,000
Al 10,000 0 10,000
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